

OFFICE OF THE PRINCIPAL

ODISHA ADARSHA VIDYALAYA, SANSOLE BLOCK- SAMAKHUNTA, DIST- MAYURBHANJ

CBSE Affiliation NO.-1520196 School Code- 17282 School UDISE-Code- 21072009602, Email- samakhunta@oav.edu.in



Tenden No . - 01 | OAYSS | 2024

Date: 07.03.2024

QUOTATION CALL NOTICE

Sealed quotation hereby invited by the undersigned from authorised dealers/distributers/firms for water and gas connection to Science Laboratories of Odisha Adarsha Vidyalaya, Sansole, Samakhunta, Mayurbhanj as per the specification given below. The last date for submission of quotation is 16/03/2024 till 1 pm and the quotations are to open on the same date at 2 pm in the presence of purchase committee.

Principal
Odisha Adarincipal dyalaya
Qdisha Adarsha Vidyalaya
Sansole, Samakhunta, Mayurbhanj

SL	DETAILED ESTIN	Qty.	Unit	Rate	Amount
1	. Description 2	3	4	5	6
1	Supplying all materials, labour, T&P and providing and fixing to wall or ceiling and floor pvc pipes conforming to ASTM-D-1785/89 (Sch-80) and pipe fittings of the following nominal bore with clamps including making good the wall, ceiling and floor all complete as per specification and direction of the Engineer in charge.In ground floor				
a. 2	20mm dia UPVC ASTM Pipe 25mm dia UPVC ASTM pipe	30.00 75.00	mtr mtr	216.60 278.70	6,498.00 20,902.50
3	Supplying all materials, labour, T&P and cutting holes through	75.00	****	2,0.,0	20,902.30
3	existing brick work including making good the damages in cement mortar (1:4) for taking GI pipes and fittings/PVC pipes and fittings etc all complete as per PH specification and direction of the Engineer in charge.250mm thick wall	8	Each	50.90	407.20
4	Supplying all materials, labour, T&P and cutting grooves in pucca floors and walls for taking GI/ PVC pipes and making good the damages as per the direction of the Engineer in charge.	8.00	mtr	194.80	1,558.40
5 a.	Supplying all materials, labour, T&P and fitting and fixing brass/CP fittings of the following nominal bore with supply of all jointing materials complete as per specification and direction of the Engineer in charge. 25mm dia CPVC Fullway Valve	1	Each	286.20	286.20
6	20mm dia CPVC fullway valve	9	Each	161.50	1,453.50
7	15mm dia Brass threaded Elbow	3	Each	52.90	158.70
8	20mm dia x15mm dia Brass threaded R/S	9	Each	68.70	618.30
9	15mm dia CP flange	3	Each	40.30	120,90
0	15mm dia CP extension piece	14	Each	59.30	830.20
1	Sink Cock -	3	Each	1353.40	4,060.20
2	15mm dia PVC inlet connection pipe 0.45m long	9	Each	34.00	306.00
	32mm dia PVC waste pipe with brass coupling nut	9	Each	50.50	454.50
	Supplying all materials, labour, T&P and fitting and fixing U-PVC SWR soil waste ventilating pipes and fittings of the following outside diameter conforming to ISI No. 13592/1992 to walls with nails, bobbins and wooden plugs or laying in trenches including jointing with supply of approved rubber lubricant by non-heat application method/as per manufacturer's specification, testing, earthwork in excavation in all kinds of soil and refilling of trenches as per specification and direction of the Engineer in charge				
	110mm dia U-PVC SWR pipe(Ashirbad / Supreeme)	15.00	Mtr	462.00	6,930.00
	110mm U-PVC Plain tee	11	Each	322.70	3,549.70
	110mm U-PVC plain bend	1	Each	232.00	232.00
	110mm U-PVC Door bend	2	Each	293.60	587.20
	110mm dia U-PVC 'P' trap	14	Each	497.30	6,962.20
	125mm dia CP grating	14	Each	85.00	1,190.00
0 !	Supplying all materials, labour, T&P and cutting holes through existing brick or laterite masonry wall for taking HCI pipes and fittings including making good the damages etc all complete as per PH specification and direction of the Engineer in				
	charge.250mm to 375mm thick wall	6	Each	215.40	1,292.40

	Supplying all materials, labour, T&P and fixing wash kitchen sink/laboratory sink with outlet at end and weir overflow including fitting and fixing a pair of cast iron or MS brackets painted white, fixing 50mm/40mm dia CP brass waste, fixing 50mm/40mm dia PVC waste pipe 910mm long with supply of wooden plugs, screws and cement etc including cutting holes in walls and making good the damages etc all complete as per specification and direction of the Engineer in charge.				5,000.00
	600mmx450mmx250mm size Steel Kitchen Sink	2	Each	2500.00	5,000.00
22	Dismantling and removing old tiled flooring including removing the old base and stacking the useful materials for reuse and removing the debris within 50 m lead etc all complete as per specification and direction of the Engineer in charge	21.00	Sqm	107.80	2,263.80
	1 x 35.00 x 0.60 Supplying all materials, labour, T&P and providing cement concrete (1:2:4) with 12mm size hard broken granite chips including watering, curing, conveyance of all materials to worksite, payment of royalty, taxes etc all complete as per specification and direction of the Engineer in charge In ground	21.00	Squ		
	floor	2.34	Cum	7194.40	16,834.90
24	1 x 39.00 x 0.60 x 0.10 Supplying all materials, labour, T&P and providing Kota tiles in floors, treads and landing on 25mm thick bed of cement mortar 1:1 (1 cement:1 sand) joined with neat cement slurry mixed with pigment to match the shades of the tiles including rubbing and polishing complete as per direction of the Engineer in				
	charge. 60 cm. x 60 cm.	5.25	Sqm	1157.50	6,076.88
25	Supplying all materials, labour, T&P and constructing gully trap chamber of the following inside size with 8cm thick R.C.C precast cover slab in cement concrete (1:2:4) mix using 12mm size h.g chips, foundation concrete (1:4:8) using 40mm size hard granite metal on bed and around trap, KB brickwork in cement mortar (1:6) in F&P and inside 12mm thick cement plastering (1:3) finished with a floating coat of neat cement including fixing 100mmx100mm size HCI gully trap,150mmx150mm size CI grating etc all complete as per approved drawing, specification and direction of the Engineer in charge.Inside size 250mmx250mm				3,305.60
	Unccion of the Page	2	Each	1652.80	3,300.00
	Digging a open well excavated earth pit for soak way purpose for	•			3,000.00
26	disposal of Chemical waters	1	Each		94,879.27

Phone: 943735379		R(ODISHA)	.			Ad	ime dress nsumer Ne No.	:PRINCI :GURUNDI 21-ORIS 0: 11793582 : 412900704	IA SUND SA 2	ERGAI	KUNL RH)IA			
E-Mail: rashmibharatgas90@gmail.com GSTIN: 21AJRPN0845Q1ZO G						GST INVOICE			Invoice No.: RBGGV020 Date: 14/09/2023						
Sn. Produc	t Description			A Part of the Part	HSN		Qty.	Mrp	Rate	Gst%	SGST	CGST	T. Amt.		
1. LPG	19KG COMMER	CIAL CYLI	NDER(5		2711(5	40	2	3384.00	2867.80	18.00	258.10	258.10	3384.0		
2. DPR BPCL							2	700.00	700.00	0.00	0.00	0.00	700.0		
3. LPG RUBBER HOSE PIPE 1.5-BPCL						00	14	2660.00	2254.24	18.00	202.88	202.88	2660.0		
CHESTER WHITE STREET,	NTER				146	29	6	600.00	508.48	18.00	45.76	SECULIAR DESCRIPTION OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUM	600.8		
5. CLAMP					146	29	28	280.00	237.28	STATE OF THE PERSONS	21.36		280.0		
6. DOCC	UJJWALA BOO	OK			48	20	1	59.00	SECURIOR STATE	18.00	4.50	4.50	59.6		
7. Add DOCUMENTATION CHARGES						29		118.00	100.00		9.00	SEED STREET, S	100.		
8. Add ADMINISTRATION CHARGES					85	metallishi t		118.00	100.00	PRODUCTION OF THE PERSON NAMED IN	9.00	CONTRACTOR OF THE PARTY	100.		
9. Add 1	NSTALLATION/	HOT PLAT	EIN		146	29		236.00	200.00	18.00	18.00	18.00	200.0		
THANKS FOR V	/ISIT.HAPPY	COOKING)			1		SUB TO	AL				7017.8		
CLASS	TOTAL	SCH.	DISC.	SGST	SGST CGST TOTAL GST SGST PAYBLE							568.6			
GST 5.00	0.00	0.00	0.00	0.00	0.00		0.00	CGST PAYBLE 568							
GST 12.00	0.00	0.00	0.00	0.00	0.00	00 0.00 SECURITY DEPOSIT FOR CYLINDER & DPR									
GST 18.00	7455.00	0.00	0.00	568.60	568,60	The second of th					DOCU	MENT	0.		
ST 28.00	0.00	0.00	0.00	0.00	0.00	0.00) TOTAL A	TOTAL AMOUNT 1295						
OTAL	7455.00	0.00	0.00	568.60	568.60	N. C. C.	1137.20	BPCL U	JJWAL	A 2.0			0,1		
a Twelve Thousand	Nine Hundred F	ifty Five Onl	v					GRAND	TOTAL		THE .		12955		
	CONTRACTOR SELECTION	DC Chamle	חמציות דפחתם	and other pro	ducts from the	range	available v	vith us, we wou	ld like to n	unka are	lear to	is not o	bligatory		
you to purchase the	e-same from us. Y	ou are at lib	erty to buy th	ne lpg Stove/C	For N	A/s.	RASH	MI BHAR	ATGA	GR	AMI	VENTE	CAK		
(>	109/23				1011				1	2 2 2 2 2	SUM	STATE OF THE PARTY			

- The supplier must have PAN/VAT Clearance certificate.
- The payment will be done after connection of water and gas in science laboratories.
- The undersigned reserves the right to cancel any or all quotation without assigning thereof.

Odisha Adarsha Vidyalaya Odisha Adarsha Vidyalaya Sansole, Samakhunta, Mayurbhanj